[ Efficiency vs vertpos |

= 02
20.18
2

2.0.16
e r
& 0.14F
o

T, SRR SOU
0.1
0.08

0.06F

..........................

E . :
0.04F G e
; oY
0.02f - $L-4-Lhp 474y e
: e
o 8 SRl
E 125 - L HEE
Sl At |
1 2 107 1 1 2
0 0 TP%enr(c%?
== Q E= I ‘!ﬂ‘:gég?nn{vcum 1660evt
[Efficiend —— %g :ﬁ ng %%igﬁ 1RO TLIERS 1000evt

N 0.2
$0.18F
2]
£0.16
>
e
50.14
£0.12
(]

0.1
0.08
0.06
0.04
0.02

.......

............

............
B

..........

RN LR RARE R

.............

...........

..........

.................

Ratio
-
©
!IIII!IIIIIll

IR
HI

SHE - - - -

e

-10

|
W
o

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~0.05
a>c_).o45
Eo.04
‘:’é 035
= 20,03
;,%) 025
0.02)
0.015
0.01
0.005

..........................

............

Ratio

10 15 20
Sim. PV z (cm)

5




	Contents
	Page 1


